MODELS SHORT LONG MODELS FLUSH REV " un}c DESCRIPTION
00| 10/15/07 |INITIAL RELEASE
CLOPAY 4) fi14 SHEET METAL SCREWS
GALLERY GD2sP, GRasP GD2LP, GRELP CLOPAY CLASSIC 4302 4 LHR TOP BRACKET 01| 08/14/08 |ADDED GLAZING TEXT AND A/B DRAWING NUMBERS
e, ARZSP ARELP HOLMES CLASSIC 6202 DOUBLE HORIZONTAL 02| 10/21/08 |ADDED PUSHNUTS
TDEAL TRACK 03] 02/10/12  |UPDATED WINDCODE CHART
EXPRESSIONS ED2sP EDELP IDEAL CLASSIC SFCed 04| 03/04/13 |REVISED FOR APPROVAL.
05| 05/08/14 |REVISED FOR APPROVAL.
. DOUBLE_TRACK
(4) 1/4" DIA. SELF TAPPING SCREWS e i
OPTIONAL GLAZING IS IMPACT RESISTANT GLAZING. 14 GAEND HINGE i . , HORIZONTAL TRACK SUPPORT BY
SEE SECTION B-B FOR DETAILS. DOOR INSTALLER (TO SUIT) ‘\
(SHORT LITES SHOWN, LONG LITES ALSO AVAIL,) =z
(GLAZING NOT TO EXCEED 38-1/2" WIDE X 13" TALL)
A STILE
HIS DOOR MEETS OR EXGEEDS THE DESIGN
13 GA. GALV. STEEL FLAG BRACKET.
OADS FOR THE ULTIMATE D SPEEDS LISTE
g I | égléwoﬁogmng%g}u'gtgﬂm;‘ BUILIIJ.IING e SLIDE BOLT 2 EA;:H /FASTENSD/;‘D WOOGOI;) JAédBS WITH
1 ) 1 10 11 HE INTERNATIONAL BUILDING CODE END LOCK ENGAGES ) 3) 5/16"x1-5/8" Wi LA CREW..
1K 1f| # | # [ | SEE END HINGE (BASED ON ASCE7-05) FOR THE FOLLOWING
L * |+| * i 3 10 r“ | DETAIL. CONDITIONS: 1) ENCLOSED BUILDING, 2) DOOR OUTSIDE STILE INTO VERTICAL DOOR
{— R — || e i e ) HAS 2' OF WIDTH IN BUILDING'S END ZONE, 3) HANDLE TRACK. ONE . HEIGHT | "L"
B 8 [A) ANY ROOF SLOPE, AND 4) TESTAG N LOCK ON NOTE: FOR DOORS OVER 12'-0 56" 70"
g ) cﬁ"j'n&umg b 1 uwfm LoCK BAR S?CEO?,‘SE & HIGH, TRACK CONFIGURATION SHALL 0" | 76"
_______________ i = . 7 NOT EXCEED MAXIMUM SPACING 6" 82"
g o Iﬁ'_-__-rll lﬁ'—___'fll Iﬁ—__'-—'ql | T“""f‘l SEE INTERMED. HINGE |BESIGN PROFESSIONAL MAY DIFFER ENGAGES IN . % PROVIDED. CONSULT FACTORY FOR B._g- g—gn—'
N Hp—— bl — —h ! OETAL. BESIGN wIND 0 | o | ise TRACK ON  INSIDE SUIDE_BOLT £ MORE DETALS IF RQD. 86" 04"
2w S - EACH SIDE  LOCK a focd 5 -]
w - eEEEE fi e Trrer EXPOSURE OF DOOR & = 90 1%
e m——————————— c N T T mmmm T CATEGORY Bpg ||| Be K' ’ § 1%_—%_, ?E:l
z3 e coo i | a5 | s | . R TR Tk, =g iiE"
o8 tY=——=1 =1 === GF===T e e =0 124"
s ¥ ih thoih = THE ih g 2 =650}
2 [ TWO POINT LOCKING m |} 2 =0 [136
= INTO TRACK L]
x o 2 Y
3 £ TYP. 2-1/2"x12 GA. GALV. STEEL TRACK BRACKET.
] 3 i Z (4) TRACK BRACKET PER SIDE. DISTANCE BETWEEN
- 1 HEH oy N g TRACK BRACKETS NOT TO EXCEED 30" 0.C.
Lo |
P e T et S Aot e 'L"“—“—‘-'h' NOTE: TRACK CONFIGURATION
S%E: DLW‘: (Mlo LLAZTNG) o::l D.il:-)l;ﬂs TIIHN(:)PTIDNN. IMPACT-RESISTANT GLAZING ARE M CO F G RAT ON - ABOVE THE DOOR OPENING
f { A STANT, OPT ST ISISTS OF ALUMINUM JAMB N IGURATI . DOES NOT AFFECT THE WIND
OPTIONAL OUTSIDE KEYED [ a POt FRAME, ANG GE LEXAR MR10, AN APPROVED CG1 PLASTIC IN ACCORDANCE WiTH STOP MOULDING BY DOOR k LOAD RATING OF THIS DOOR.
LOCK FOSHION P 200308 ASSEMBLY INSTALLED 1N COMPLANCE WITH THIS SECTION MEETS THE ; INSTALLER (TO SUIT) 17 -
- MAX. DOOR WIOTH = §8'-0" WIND LOAD REQUIREMENTS OF INTERNATIONAL BUILDING CODE AND IS LARGE— AND 18 GA. GALV. STEEL END STILE o ig St
INSIDE_ELEVATION SMALEEMSSIE-TRPACT IRESISTANT: (END STILES HELD BY HINGE SCREWS)
TION B—B (IMPACT—RESISTANT ING_OPTION 2x6 YELLOW PINE JAMB
12 GA. GALV. STEEL TRACK
BRACKET FASTENED TO WOOD
INSULATED DOOR SECTION. JAMB WITH ONE 5/16"x1-1/2"
SECTION A-A WOOD LAG SCREW PER BRACKET.
2" THICK DECORATIVE FACADE: HORIZONTAL (TOP) JAMB

2" GALV. STEEL TRACK FASTENED

18 GA. GALV. STEEL INTER. HINGE FASTENED TO CENTER |— /_ (NO LOAD FROM DOOR)

SILICONE FILLED CHANNEL SEPARATES STILE W/(4) EACH §14x5/8" SHEET METAL SCREWS.

12 R (16) §8=18 = 1/2" TO TRACK BRACKETS. EACH +
)7 A ML STEEL GALY. EXTERIOR SKIN FHONT &NE: GARK: Bui OF X0 i 4, /e scRew. BRACKET ATTACHED WITH ONE 7/16" ROUND PUSHNUT IS INSTALLED ON EACH ROLLER SHAFT. . « >
" “WITH BAKED-ON PRIMER AND A T — ) & 1/4"%5/8" BOLT & ';‘UI,,Q%\ET:‘SO 14 GA GALV. STEEL END HINGE FASTENED TO END STILES W/() EACH
BAKED—ON POLYESTER PAINTED TOP COAT. EROANOES BOLTSTYRENE / . J14x5/8" SHEET METAL SCREWS & (4) 1/4" SELF TAPPING SCREWS.
FOAM INSULATION LAMINATED - - RETAINER. i
S\ 70 BOTH EXTERIOR AND 0 18R Skt it 2" 10 BALL STEEL ROLLER FASTENER
y./ INTERIOR SKINS. (1-3/16"%7/16"x4") WITH TYPE
1/4" THICK POLYCARBONATE STEEL OR NYLON TIRE, 1 .

GLAZING.

SNAP LATCH ENGAGES
ONTO VERTICAL TRACK.
ONE SNAP LATCH ON
EACH SIDE OF DOOR.

12 GA. GALV, STEEL TOP
ROLLER BRACKET. EACH MAX. O.C.
BRACKET ATTACHED W/(4)
§14x5/8" SHEET METAL

PREPARATION OF JAM| Y OTHER

SCREWS. IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: .
TONGUE AND GROOVE JOINTS. 1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 dii AME ATTACHMENT (W FRAM ILDINGS):
SOUTHERN YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE o ; Rt )
14 GA GALV. STEEL ROLLER SUPPORTING STRUCTURE TO CREATE THE MOUNTING SURFACE. 3/8°%3" LAG SCREWS ON 24" CENTERS, 1-1/8" 0.0. WASHER REQUIRED. LAG SCREWS x5 VERTIEN. AN
END HINGE. EACH FASTENED TO ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED DIRECTLY TO THE MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE.
OUTS'DEH:EEE[E SHLE END STILES W/(4) f14x5/8] SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF SCREW HOLE HORIZONTAL JAMBS DO NOT TRANSFER LOAD. / S
SHEET METAL SCREWS & (4) MUST BE AT LEAST %' FROM BOTH EDGES FOR A 5/16" LAG SCREW.

\ 1/4"x3/4" SELF TAPPING SCREWS. VERTICAL JAMB ATTACHMENT (C-90 BLOCK OR 2,000 PSI MIN, CONCRETE COLUMN): .

IF THE Wi OARD 1S NOT AY T K P THE UNDERLYING
Z)F: THE WALLOGRRGD:. 13 NOT_ GUT /ey, 10 EXROSE . 3/8"x3" SLEEVE ANCHOR BOLTS ON 22" CENTERS (2,000 PSI MIN. CONCRETE).

STRUCTURE (WOOD FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE
WOOD BUCK OVER SHALL BE INSTALLED THE WALLBOARD FRAMING THE

WASHERS INCLUDED WITH SLEEVE ANCHORS.

OPENING USING THE JAMB ATTACHMENT FASTENERS LISTED BELOW. HOWEVER, OR . N.T.E. 1/2 MAX. O.C.
5% TALL = 20 GA. GALV. STEEL THE JAMB ATTACHMENT FASTENERS MUST BE OF A SUFFICIENT INCREASED 1/4"x3" TAPCON SCREWS ON 19" CENTERS (2,000 PSI MIN. CONCRETE) OR 10 /
U-BAR ONE PER DOOR LENGTH TO ACCOUNT FOR THE THICKNESS OF THE WALLBOARD TO ENSURE CENTERS (C-90 BLOCK), 1" 0.D. WASHERS REQUIRED WITH TAPCONS.
SECTION, EXCEPT TWO ON PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL FRAMING MEMBERS ANCHORS MAY BE coummsuux (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING
BGTTO(M)SE?TION./ ATTACHED OF THE SUPPORTING STRUCTURE. SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.
WITH (2) 1/4"x3/4" SELF
TAPPING SCREWS AT EACH
L. Sy —| [Fver From e OTHER JAMB CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN
= PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR
SECTION A-A JAMB CONFIGURATIONS,
-
27 GA. MIN STEEL GALV. INTERIOR SKIN
WA BAKED-ON PRIMER AND A AR , DESIGN LOADS: +38.0 P.S.F. & —44.0 P.SF.
BAKED-ON POLYESTER PAINTED TOP COAT. DESIGN ENGINEER: MARK W. WESTERFIELD, P.E. TEST LOADS: +57.0 P.S.F. & —66.0 P.S.F
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 - +al -9.F . 2.k
13 GA. GALV. STEEL BOTTOM BRACKET. MANUF ACTURING PRODUCT CODE| VINDLOAD RATING | MAXIWUM DDOR SIZE:
. 8 C e ATTACHED WITH (2) #14x5/8" SHEET METAL SCREWS. - CLOPAY BUILDING PRODUCTS COMPANY DSIE-1F471 Wwé DP38 9'0"W X 16'0"H
oL £ um UIOpay| e 0 " oa/or e
M S R A e - MASON, OH 45040 i GALLERY 2" EPS SC +38/-44 PSF
= & VINYL WEATHERSTRIP. Building Products (513)770-4800 _— NBFA B DRAWING WUMBER: VER:
Company = 103954 10




